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Worksheet A: (Topic 3.9) Inverse Trigonometric Functions  Name: 

 

Directions:  Evaluate the following expressions. 
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Directions: Solve the following equations. 
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11.  The angle   is in standard position.  The terminal ray intersects the unit circle at point ,S  whose coordinates are 

( ), .x y   The points , , and P Q R  are the result of the terminal ray being reflected  over the -axis, the origin, andy

the -axisx  respectively.  For each of the following expressions, determine which labeled point intersects the terminal ray 

of the given angles. 
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12.  The angle   is in standard position.  The terminal ray intersects the unit circle at point ,R  whose coordinates are 

( ), .x y   The points , , and P Q S  are the result of the terminal ray being reflected  over the -axis, the origin, andy

the -axisx  respectively.  For each of the following expressions, determine which labeled point intersects the terminal ray 

of the given angles. 
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